1. Has adequate basic computer skills--e.g., navigating through an application, saving, copying and printing a file, using a mouse, accessing the internet, etc.

	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	60.0% (3)	40.0% (2)	0.0% (0)	5
Director/Associate Dean	40.0% (2)	40.0% (2)	20.0% (1)	5
Nurse Manager	100.0% (3)	0.0% (0)	0.0% (0)	3
Charge Nurse	25.0% (1)	75.0% (3)	0.0% (0)	4
Nurse Informaticist	100.0% (5)	0.0% (0)	0.0% (0)	5
			answered question	5
			skipped question	2

2. Differentiates and can locate critical clinical data in the electronic patient record				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	40.0% (2)	60.0% (3)	0.0% (0)	5
Director/Associate Dean	50.0% (3)	16.7% (1)	33.3% (2)	6
Nurse Manager	50.0% (2)	50.0% (2)	0.0% (0)	4
Charge Nurse	50.0% (2)	50.0% (2)	0.0% (0)	4
Nurse Informaticist	100.0% (5)	0.0% (0)	0.0% (0)	5
			answered question	6
			skipped question	1

3. Utilizes information technology/applications to develop ideas for improving patient care				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	60.0% (3)	40.0% (2)	0.0% (0)	5
Director/Associate Dean	20.0% (1)	60.0% (3)	20.0% (1)	5
Nurse Manager	25.0% (1)	75.0% (3)	0.0% (0)	4
Charge Nurse	0.0% (0)	100.0% (4)	0.0% (0)	4
Nurse Informaticist	60.0% (3)	40.0% (2)	0.0% (0)	5
			answered question	5
			skipped question	2

4. Develops and implements policies and procedures related to nursing and clinical management systems				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	80.0% (4)	0.0% (0)	20.0% (1)	5
Director/Associate Dean	25.0% (1)	50.0% (2)	25.0% (1)	4
Nurse Manager	50.0% (2)	50.0% (2)	0.0% (0)	4
Charge Nurse	25.0% (1)	75.0% (3)	0.0% (0)	4
Nurse Informaticist	100.0% (5)	0.0% (0)	0.0% (0)	5
			answered question	5
			skipped question	2

5. Maintains up to date knowledge of trends and advances in nursing practicies related to information technologies				
	Proficient	Needs Development	Not applicable	Response Count
Chief Nurse Executive/Dean	60.0% (3)	40.0% (2)	0.0% (0)	5
Director/Associate Dean	50.0% (2)	25.0% (1)	25.0% (1)	4
Nurse Manager	0.0% (0)	100.0% (3)	0.0% (0)	3
Charge Nurse	0.0% (0)	100.0% (3)	0.0% (0)	3
Nurse Informaticist	100.0% (4)	0.0% (0)	0.0% (0)	4
			answered question	5
			skipped question	2

6. Participates in quality improvement activities as they relate to information technologies in the patient care areas				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	40.0% (2)	40.0% (2)	20.0% (1)	5
Director/Associate Dean	40.0% (2)	40.0% (2)	20.0% (1)	5
Nurse Manager	50.0% (2)	50.0% (2)	0.0% (0)	4
Charge Nurse	25.0% (1)	75.0% (3)	0.0% (0)	4
Nurse Informaticist	100.0% (5)	0.0% (0)	0.0% (0)	5
			answered question	5
			skipped question	2

7. Utilizes information technology system reports for quality improvement				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	100.0% (5)	0.0% (0)	0.0% (0)	5
Director/Associate Dean	80.0% (4)	0.0% (0)	20.0% (1)	5
Nurse Manager	100.0% (4)	0.0% (0)	0.0% (0)	4
Charge Nurse	50.0% (2)	50.0% (2)	0.0% (0)	4
Nurse Informaticist	100.0% (5)	0.0% (0)	0.0% (0)	5
			answered question	5
			skipped question	2

8. Uses information technologies for communicating to staff for example, email, Blackberry or PDA, SharePoint, etc.				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	100.0% (5)	0.0% (0)	0.0% (0)	5
Director/Associate Dean	40.0% (2)	40.0% (2)	20.0% (1)	5
Nurse Manager	75.0% (3)	25.0% (1)	0.0% (0)	4
Charge Nurse	0.0% (0)	100.0% (4)	0.0% (0)	4
Nurse Informaticist	100.0% (5)	0.0% (0)	0.0% (0)	5
			answered question	5
			skipped question	2

9. Communicates new and updated information to the staff, physicians, and hospital leadership as it relates to information technology utilization

	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	60.0% (3)	40.0% (2)	0.0% (0)	5
Director/Associate Dean	60.0% (3)	20.0% (1)	20.0% (1)	5
Nurse Manager	0.0% (0)	100.0% (4)	0.0% (0)	4
Charge Nurse	0.0% (0)	100.0% (4)	0.0% (0)	4
Nurse Informaticist	80.0% (4)	20.0% (1)	0.0% (0)	5
			answered question	5
			skipped question	2

10. Understands and translates the benefits and objectives of new information technology systems for their area of practice or education

	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	100.0% (5)	0.0% (0)	0.0% (0)	5
Director/Associate Dean	40.0% (2)	40.0% (2)	20.0% (1)	5
Nurse Manager	25.0% (1)	75.0% (3)	0.0% (0)	4
Charge Nurse	0.0% (0)	100.0% (4)	0.0% (0)	4
Nurse Informaticist	80.0% (4)	20.0% (1)	0.0% (0)	5
			answered question	5
			skipped question	2

11. Communicates and supports privacy and security issue with sharing of patient information				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	100.0% (5)	0.0% (0)	0.0% (0)	5
Director/Associate Dean	60.0% (3)	20.0% (1)	20.0% (1)	5
Nurse Manager	75.0% (3)	25.0% (1)	0.0% (0)	4
Charge Nurse	50.0% (2)	50.0% (2)	0.0% (0)	4
Nurse Informaticist	100.0% (5)	0.0% (0)	0.0% (0)	5
			answered question	5
			skipped question	2

12. Maintains knowledge of accrediting agency requirements as it relates to patient safety and information technologies				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	80.0% (4)	20.0% (1)	0.0% (0)	5
Director/Associate Dean	75.0% (3)	0.0% (0)	25.0% (1)	4
Nurse Manager	66.7% (2)	33.3% (1)	0.0% (0)	3
Charge Nurse	33.3% (1)	66.7% (2)	0.0% (0)	3
Nurse Informaticist	75.0% (3)	25.0% (1)	0.0% (0)	4
			answered question	5
			skipped question	2

13. Communicates and works within organization's processes to evaluate resource expenditures and potential savings for implementing technology solutions

	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	60.0% (3)	40.0% (2)	0.0% (0)	5
Director/Associate Dean	20.0% (1)	60.0% (3)	20.0% (1)	5
Nurse Manager	0.0% (0)	75.0% (3)	25.0% (1)	4
Charge Nurse	0.0% (0)	75.0% (3)	25.0% (1)	4
Nurse Informaticist	60.0% (3)	40.0% (2)	0.0% (0)	5
			answered question	5
			skipped question	2

14. Works effectively within the organization's processes and resources to provide staff with the resources and educational opportunities to function and practice with technology solutions

	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	80.0% (4)	20.0% (1)	0.0% (0)	5
Director/Associate Dean	80.0% (4)	0.0% (0)	20.0% (1)	5
Nurse Manager	25.0% (1)	75.0% (3)	0.0% (0)	4
Charge Nurse	0.0% (0)	75.0% (3)	25.0% (1)	4
Nurse Informaticist	60.0% (3)	40.0% (2)	0.0% (0)	5
			answered question	5
			skipped question	2

15. Identifies and defines success measures prior to implementing an information technology system				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	50.0% (2)	50.0% (2)	0.0% (0)	4
Director/Associate Dean	50.0% (2)	50.0% (2)	0.0% (0)	4
Nurse Manager	0.0% (0)	66.7% (2)	33.3% (1)	3
Charge Nurse	0.0% (0)	66.7% (2)	33.3% (1)	3
Nurse Informaticist	75.0% (3)	25.0% (1)	0.0% (0)	4
			answered question	4
			skipped question	3

16. Focuses staff on patient safety and satisfaction benefits from system				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	75.0% (3)	25.0% (1)	0.0% (0)	4
Director/Associate Dean	100.0% (4)	0.0% (0)	0.0% (0)	4
Nurse Manager	66.7% (2)	33.3% (1)	0.0% (0)	3
Charge Nurse	0.0% (0)	100.0% (3)	0.0% (0)	3
Nurse Informaticist	75.0% (3)	25.0% (1)	0.0% (0)	4
			answered question	4
			skipped question	3

17. Provides adequate computer application resources for clinical staff				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	33.3% (1)	66.7% (2)	0.0% (0)	3
Director/Associate Dean	33.3% (1)	66.7% (2)	0.0% (0)	3
Nurse Manager	50.0% (1)	50.0% (1)	0.0% (0)	2
Charge Nurse	0.0% (0)	50.0% (1)	50.0% (1)	2
Nurse Informaticist	33.3% (1)	66.7% (2)	0.0% (0)	3
			answered question	3
			skipped question	4

18. Understands the concept of "outsourcing IT" and "vendor neutrality" if working with consultants				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	75.0% (3)	25.0% (1)	0.0% (0)	4
Director/Associate Dean	50.0% (2)	50.0% (2)	0.0% (0)	4
Nurse Manager	0.0% (0)	33.3% (1)	66.7% (2)	3
Charge Nurse	0.0% (0)	50.0% (1)	50.0% (1)	2
Nurse Informaticist	100.0% (3)	0.0% (0)	0.0% (0)	3
			answered question	4
			skipped question	3

19. Understands what "customization" of a computer application means to both their organization and the vendor supplying the application

	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	50.0% (2)	50.0% (2)	0.0% (0)	4
Director/Associate Dean	25.0% (1)	75.0% (3)	0.0% (0)	4
Nurse Manager	0.0% (0)	100.0% (3)	0.0% (0)	3
Charge Nurse	0.0% (0)	66.7% (2)	33.3% (1)	3
Nurse Informaticist	75.0% (3)	25.0% (1)	0.0% (0)	4
			answered question	4
			skipped question	3

20. Understands and participates in infrastructure (e.g., hardware) decisions that support information technology systems				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	50.0% (2)	50.0% (2)	0.0% (0)	4
Director/Associate Dean	25.0% (1)	75.0% (3)	0.0% (0)	4
Nurse Manager	0.0% (0)	0.0% (0)	100.0% (1)	1
Charge Nurse	0.0% (0)	0.0% (0)	100.0% (2)	2
Nurse Informaticist	100.0% (3)	0.0% (0)	0.0% (0)	3
			answered question	4
			skipped question	3

21. Ensures that there are adequate procedures in place for erroneous data entry and error correction				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	25.0% (1)	75.0% (3)	0.0% (0)	4
Director/Associate Dean	25.0% (1)	75.0% (3)	0.0% (0)	4
Nurse Manager	0.0% (0)	100.0% (3)	0.0% (0)	3
Charge Nurse	0.0% (0)	66.7% (2)	33.3% (1)	3
Nurse Informaticist	25.0% (1)	75.0% (3)	0.0% (0)	4
			answered question	4
			skipped question	3

22. Ensures adequate procedures in place for both planned and unplanned downtime for all computerized systems				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	25.0% (1)	75.0% (3)	0.0% (0)	4
Director/Associate Dean	33.3% (1)	66.7% (2)	0.0% (0)	3
Nurse Manager	50.0% (1)	50.0% (1)	0.0% (0)	2
Charge Nurse	0.0% (0)	100.0% (2)	0.0% (0)	2
Nurse Informaticist	33.3% (1)	66.7% (2)	0.0% (0)	3
			answered question	4
			skipped question	3

23. Understands the computer system upgrade process and its impact on clinical staff while providing opportunities for input and system evaluation

	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	25.0% (1)	75.0% (3)	0.0% (0)	4
Director/Associate Dean	25.0% (1)	75.0% (3)	0.0% (0)	4
Nurse Manager	0.0% (0)	100.0% (3)	0.0% (0)	3
Charge Nurse	0.0% (0)	100.0% (3)	0.0% (0)	3
Nurse Informaticist	100.0% (4)	0.0% (0)	0.0% (0)	4
			answered question	4
			skipped question	3

24. Ensures adequate policies and communication mechanisms in place to support the security and privacy of individual patient's data

	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	100.0% (3)	0.0% (0)	0.0% (0)	3
Director/Associate Dean	100.0% (3)	0.0% (0)	0.0% (0)	3
Nurse Manager	33.3% (1)	33.3% (1)	33.3% (1)	3
Charge Nurse	50.0% (1)	50.0% (1)	0.0% (0)	2
Nurse Informaticist	100.0% (3)	0.0% (0)	0.0% (0)	3
			answered question	4
			skipped question	3

25. Aware of state and national policy implications of technological advances				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	50.0% (2)	50.0% (2)	0.0% (0)	4
Director/Associate Dean	25.0% (1)	75.0% (3)	0.0% (0)	4
Nurse Manager	0.0% (0)	100.0% (3)	0.0% (0)	3
Charge Nurse	0.0% (0)	66.7% (2)	33.3% (1)	3
Nurse Informaticist	50.0% (2)	50.0% (2)	0.0% (0)	4
			answered question	4
			skipped question	3

26. Able to describe and use best practices in the implementation of any technological advance, including but not limited to computer application, health record or a new piece of equipment.

	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	25.0% (1)	75.0% (3)	0.0% (0)	4
Director/Associate Dean	0.0% (0)	100.0% (3)	0.0% (0)	3
Nurse Manager	0.0% (0)	100.0% (2)	0.0% (0)	2
Charge Nurse	0.0% (0)	100.0% (2)	0.0% (0)	2
Nurse Informaticist	66.7% (2)	33.3% (1)	0.0% (0)	3
			answered question	4
			skipped question	3

27. Understands the role of the informatics nurse specialist during different system lifecycle phases (e.g., purchase, design, implementation, upgrade, and maintenance)

	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	25.0% (1)	75.0% (3)	0.0% (0)	4
Director/Associate Dean	25.0% (1)	75.0% (3)	0.0% (0)	4
Nurse Manager	33.3% (1)	66.7% (2)	0.0% (0)	3
Charge Nurse	33.3% (1)	66.7% (2)	0.0% (0)	3
Nurse Informaticist	75.0% (3)	25.0% (1)	0.0% (0)	4
			answered question	4
			skipped question	3

28. Takes into consideration the learning curve impact when planning implementation, adoption, and evaluation of information technology systems

	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	25.0% (1)	75.0% (3)	0.0% (0)	4
Director/Associate Dean	50.0% (2)	50.0% (2)	0.0% (0)	4
Nurse Manager	33.3% (1)	66.7% (2)	0.0% (0)	3
Charge Nurse	33.3% (1)	33.3% (1)	33.3% (1)	3
Nurse Informaticist	50.0% (2)	50.0% (2)	0.0% (0)	4
			answered question	4
			skipped question	3

29. Adept at fully utilizing the change management process in the implementation of new technology systems				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	50.0% (2)	50.0% (2)	0.0% (0)	4
Director/Associate Dean	0.0% (0)	100.0% (4)	0.0% (0)	4
Nurse Manager	0.0% (0)	100.0% (3)	0.0% (0)	3
Charge Nurse	0.0% (0)	100.0% (3)	0.0% (0)	3
Nurse Informaticist	50.0% (2)	50.0% (2)	0.0% (0)	4
			answered question	4
			skipped question	3

30. Maintains a working knowledge of the impact of information technologies on nursing workflows				
	Proficient	Needs Development	Not applicable	Response Count
Chief Nurse Executive/Dean	50.0% (2)	50.0% (2)	0.0% (0)	4
Director/Associate Dean	0.0% (0)	100.0% (4)	0.0% (0)	4
Nurse Manager	33.3% (1)	66.7% (2)	0.0% (0)	3
Charge Nurse	0.0% (0)	100.0% (3)	0.0% (0)	3
Nurse Informaticist	50.0% (2)	50.0% (2)	0.0% (0)	4
			answered question	4
			skipped question	3

31. Identifies workflow process in inpatient and outpatient areas				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	25.0% (1)	50.0% (2)	25.0% (1)	4
Director/Associate Dean	25.0% (1)	75.0% (3)	0.0% (0)	4
Nurse Manager	33.3% (1)	66.7% (2)	0.0% (0)	3
Charge Nurse	0.0% (0)	100.0% (3)	0.0% (0)	3
Nurse Informaticist	75.0% (3)	25.0% (1)	0.0% (0)	4
			answered question	4
			skipped question	3

32. Motivates staff physicians and interdisciplinary care team members to utilize the patient care computer systems for clinical care operations

	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	25.0% (1)	50.0% (2)	25.0% (1)	4
Director/Associate Dean	0.0% (0)	75.0% (3)	25.0% (1)	4
Nurse Manager	0.0% (0)	66.7% (2)	33.3% (1)	3
Charge Nurse	0.0% (0)	66.7% (2)	33.3% (1)	3
Nurse Informaticist	50.0% (2)	25.0% (1)	25.0% (1)	4
			answered question	4
			skipped question	3

33. Integrates technological changes within the nursing governance structure to reflect advances in practice				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	50.0% (2)	50.0% (2)	0.0% (0)	4
Director/Associate Dean	50.0% (2)	50.0% (2)	0.0% (0)	4
Nurse Manager	33.3% (1)	66.7% (2)	0.0% (0)	3
Charge Nurse	33.3% (1)	33.3% (1)	33.3% (1)	3
Nurse Informaticist	50.0% (2)	50.0% (2)	0.0% (0)	4
			answered question	4
			skipped question	3

34. Fully uses effective educational models to deliver new and updated content to staff members				
	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	25.0% (1)	75.0% (3)	0.0% (0)	4
Director/Associate Dean	25.0% (1)	75.0% (3)	0.0% (0)	4
Nurse Manager	0.0% (0)	100.0% (3)	0.0% (0)	3
Charge Nurse	0.0% (0)	66.7% (2)	33.3% (1)	3
Nurse Informaticist	50.0% (2)	50.0% (2)	0.0% (0)	4
			answered question	4
			skipped question	3

35. Uses information obtained from the organization's Management Information System to share with clinical staff regarding patient outcomes

	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	100.0% (3)	0.0% (0)	0.0% (0)	3
Director/Associate Dean	100.0% (3)	0.0% (0)	0.0% (0)	3
Nurse Manager	50.0% (1)	50.0% (1)	0.0% (0)	2
Charge Nurse	0.0% (0)	50.0% (1)	50.0% (1)	2
Nurse Informaticist	33.3% (1)	33.3% (1)	33.3% (1)	3
			answered question	3
			skipped question	4

36. Embraces innovation as it relates to adoption and learning of information technology (e.g., providing cross-training of interested RNs, web-based courses, play ground, etc.)

	Proficient	Needs Development	Not Applicable	Response Count
Chief Nurse Executive/Dean	50.0% (2)	50.0% (2)	0.0% (0)	4
Director/Associate Dean	50.0% (2)	50.0% (2)	0.0% (0)	4
Nurse Manager	50.0% (2)	50.0% (2)	0.0% (0)	4
Charge Nurse	0.0% (0)	100.0% (3)	0.0% (0)	3
Nurse Informaticist	75.0% (3)	25.0% (1)	0.0% (0)	4
			answered question	5
			skipped question	2

37. Please select the geographic location of your primary work site			
		Response Percent	Response Count
North East		0.0%	0
South East		25.0%	1
Midwest		50.0%	2
South Central		0.0%	0
West		25.0%	1
	Other (ple	ease specify)	0
	answere	ed question	4
	skippe	ed question	3

38. Please select the type of organization that you represent			
		Response Percent	Response Count
Hospital		25.0%	1
Corporate Health Care Delivery System		25.0%	1
Academic Institution		25.0%	1
Ambulatory Practice Setting		0.0%	0
Long Term Care Organization		0.0%	0
Professional Nursing Organization		0.0%	0
Other (please specify)		25.0%	1
	answered question		4
	skipp	ed question	3

39. Please select the title that best matches your position with the organization				
		Response Percent	Response Count	
Chief Nurse Executive/Dean		25.0%	1	
Director/Associate Dean		50.0%	2	
Nurse Manager		0.0%	0	
Charge Nurse		0.0%	0	
Nurse Informaticist		25.0%	1	
	Other (ple	ease specify)	2	
	answere	ed question	4	
	skipp	ed question	3	

40. Please select the size of your organization (number of beds)				
		Response Percent	Response Count	
Less than 100		0.0%	0	
101-200		25.0%	1	
200-300		25.0%	1	
300 or over		25.0%	1	
Not applicable		25.0%	1	
	Other (ple	ease specify)	0	
	answere	ed question	4	
	skippe	ed question	3	

41. Is your primary work location part of a multi-facility health care delivery system?				
		Response Percent	Response Count	
Yes		50.0%	2	
No		50.0%	2	
	answere	ed question	4	
	skippe	ed question	3	

42. Do you have an educational department?					
		Response Percent	Response Count		
Yes		75.0%	3		
No		25.0%	1		
	answere	ed question	4		
	skipp	ed question	3		

43. What is the level of academic preparation the majority of the nurses hold at the each management level						
	Diploma or Associate Degree	Baccalaureate	Baccalaureate with Specialty Certificate	Masters	Doctorate	Response Count
Chief Nurse Executive/Dean	0.0% (0)	0.0% (0)	0.0% (0)	50.0% (2)	50.0% (2)	4
Director/Associate Dean	0.0% (0)	0.0% (0)	0.0% (0)	75.0% (3)	25.0% (1)	4
Nurse Manager	0.0% (0)	25.0% (1)	25.0% (1)	50.0% (2)	0.0% (0)	4
Charge Nurse	25.0% (1)	50.0% (2)	0.0% (0)	25.0% (1)	0.0% (0)	4
Nurse Informaticist	0.0% (0)	25.0% (1)	0.0% (0)	25.0% (1)	50.0% (2)	4
	Other (please specify)			0		
	answered question			4		
skipped question			3			